Answer on Question #61893, Chemistry / Inorganic Chemistry

Condition: Explain why the electron affinities of the elements of Period 3 are higher than those of
the corresponding elements of Period 2 of the periodic table

Solution:

In the field of chemistry and atomic physics, the electron affinity of the atom or molecule is
defined as the amount of energy released or waste, when an electron is added to a neutral atom
or molecule in the gaseous state, forming a negative ion.

Although Eea varies greatly according to the periodic table, some patterns. Typically, non-metals
have a positive EEA, than metals. Atoms whose anions are more stable than neutral atoms have a
greater EEA. Chlorine is most strongly attracts extra electrons; mercury most weakly attracts an
extra electron. Electron affinity noble gases finally measured so that they may or may not have a
slightly negative value.

Eea generally increases over time (line) in the periodic table. This is caused by the filling of the
valence shell of an atom; Group 17 atoms releases more energy than a Group 1 to the electron as
it gets filled valence shell and is therefore more stable.

The tendency to decrease down EEA group in the periodic table could be expected. Additional
electron will enter orbit farther from the nucleus. Since the electron is further from the core is less
attracted to the core and will produce less energy when added. Nevertheless, it is obvious
counterexample to this trend can be found in Group 2, and observed the entire periodic table, it
turns out that the proposed trend applies only to the atoms of the 1st group.
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